
5/2

5/2

x<1/4AC
x<15/4

AO=f(x)+x+5/2
AB=V(225+64)=17
AO=V(225+25/4)=5V37/2
sinA/2=10/(10V37)=x/AP
AP=xV37
5V37/2=xV37+x+5/2
5V37/2-5/2=xV37+x
(5V37-5)/(2(V37+1))=x
5(V37-1)(V37+1)/(2(V37+1)^2)=x
5*36/(2(37+2V37+1))=x
45/(19+V37)=x
x=45(19-V37)/(361-37)
x=5(19-V37)/36
x=(95-5V37)/36

f(x)
AB=17
sinA=8/17
cosA=15/17
tgA/2=x/AL
tgA/2=1/4
AL=4x
LC=15-4x
(5/2+x)^2=(5/2-x)^2+(15-4x)^2

sinA=2sinA/2cosA/2 / 1=
=2sinA/2cosA/2 / (sin^2 A/2 + cos^2 
A/2)= 2tgA/2 / (tg^2 A/2 + 1)=
=2z / (z^2+1)

8/17=2z / (z^2+1)
0=[34z-8(z^2+1)]/17(z^2+1)
0=34z-8(z^2+1) z^2!=-1
17z-4z^2-4=0
z=4 z=1/4

25/4+5x+x^2=25/4-5x+x^2+225-120x+16x^2
16x^2-130x+225=0
x=5/2 <-Ответ
x=45/8 не подходит по а)
AL=x/4
(5/2+x)^2=(5/2-x)^2+(15-x/4)^2
-10x+225-15x/2+x^2/16=0
225-35x/2+x^2/16=0

x<15/4
2x<15/2

а)
S(ABC)=r(a+b+c)/2
r=2*60/(15+17+8)=
=3
x<3<¼*15=3….


